Puissances de Dix (H)

Trouvez chaque produit ou quotient.

9x 10! = 54+ 103 =
53 %x10%= 3,52+ 101 =
8,5 % 10° = 2,3339 + 102 =
52 -+10° = 1,742 + 10 =
8,475 x 10°% = 499 + 10% =
2,7 % 10" = 3,8446 x 103 =
3,1412 X 103 = 3243 =103 =
9,4289 + 10" = 9,5981 x 10% =
4,6 x 10% = 6,856 ~ 10 =
6,976 ~ 10 = 8% 103 =
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Puissances de Dix (H) Solutions

Trouvez chaque produit ou quotient.

9 x 10' =90

5,3 X 10* =530

8,5 x 10° =8 500

5,2 +10°=0,0052

8,475 x 10° =8 475

2,7 x 10t =27

3,1412 x 10° =3 141,2

9,4289 + 10 = 0,94289

4,6 X 10%> =460

6,976 ~ 10 = 0,6976

5,4+ 10°=0,0054

3,52 +10"=0,352

2,3339 + 10% =0,023339

1,742 + 101 =0,1742

4,99 + 10% = 0,0499

3,8446 X 10° = 3 844,6

3,243 + 10° = 0,003243

9,5981 x 10%* =959,81

6,856 = 10* = 0,6856

8 x 10°=8000
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